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the decay width of the top quark.
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so the top quark decays essentially

100% of the time into 6 quarks . We can calculate frow and

it will be straightforward to extend this to the remaining two flavors.
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We have to be a bit careful conjugating the spiror product
with US :
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Hermition,

so no deggers

As wiR QED, use (Um +go =VOU, but to
more VO past US, we have to

anticonmute (EU0=V0(5) · These signs are tricks, and

show up everywhere in electroweak
calculations !
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where we used the result for sums
over massive

rector polarizations

from last week. Since my= 4 GeV but my = 173 GeV, mye+ and

we can set mo = 0 in the trace.

There are a couple more trace tricks involving US

these are also helpful for evaluating
T(US) = 0

& polarized amplitudes using projectors-

Tr( +vs) = 0 instead of left- or right-handed

Tr(U-versus) =-diema spinors










